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Solveb — 5 -—-'7.

b—-54+5=7+5 AddS5 o each side to get the variable
alone on the lefl side of the equal sign.

b =12 Simplify.
Check: b—-5=7 Check your solution in the original equation.
12—-527 Substitute 12 for b,
7=7T¢

Find the value of a.

PQ = PR
11=6+a The measures of congruent sides are
saual.
11 -6 =6 + a — 6 Subitract 8 from each side.
5=a Simplify.
The value of a is 5.
Check: 11 =6 + a Check yvour solution in the original
| aguation. |
1126+5 Substituie 5 for a.

11 =11v
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Together, you and your puppy weigh 128 Ib. If you

alone weigh 115 ib, how much does your pPuppy weigh?

Relate; your weight plus Puppy’s weight equals combined weight
Define: Let [p] = the puppy’s weight.

Write: 115 + = 128
115 + p = 128
P~ WE =128 - 115 Subtract 115 from each side.

p =13 Simplify.
The puppy weighs 13 Ib.

Check: Is the solution reasonable? The PUppy weighs

about 15 Ib. The Puppy’s weight pius your weight is about
130 Ib, which is close to 128 Ib. The answer is reasonable.

) A
! Soive ~6 = 9.3.

xé) = —6(-9.3) WMultiply by -8 on sach side 1o get the variable
. alone on the lef side of the equal sign.

I = 558 Simplify,

Soive %y = —10.

= g( —10) Multiply each side by gg the reciprocal of ém

Yy =-25_ Simplify.
Check: %y = —-10

%(_25) 2 —10 Bubstitute —25 for ¥,
10 = —10 v

Solve —6m = 42,
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